Answers

Worksheet 1

1) 2.464 = 2.5
2) 2.665 = 2.7
3)6.470 = 6.5
4)3.315=3.3
5)6.980 = 7.0
6)8.928 = 8.9
7)3.421=3.4
8) 8.865 = 8.9
9)1.737=1.7
0) 6.969 = 7.0
1 6.478 = 6.5
2)5.779=5.8
1.258=1.3
3.175=3.2
4.630=4.6
4.540=4.5
6.057 = 6.1
1.808=1.8
9.602=9.6
9.433=9.4
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Worksheet 5

1) 3.49 x 3.22=11.2
2)3.34 x 2.56 = 8.55
3)4.6 x 1.93 = 8.88
4)1.4 x 0.60 = 0.840
5)7.84 x 5.4 = 42.34
6) 2.7 x 1.67 = 4.51
7) 7.65 x 6.84 = 52.33
8) 8.9 X 7.95=70.76
9)3.2x3.0=9.6
10) 6.95 x 2.37 = 16.5
1) 7.0 x 3.29 = 23.03
2) 6.93 x 5.7 = 39.50
13)4.5 x 2.84=12.8
14) 4.05 x 1.3 = 5.26
5) 6.05 x 5.0 = 30.25
6)5.3 x 4.2=22

Worksheet 2

1)7.9 > 3.33
2)6.3>5.2
3)4.98 > 4.14
4)2.36 < 2.5
5)9.0 > 0.84
6)2.14 < 7.0
7)1.7<9.3
8)9.3> 3.4
9)5.1<7.1
10)3.8 < 7.9
1)7.5 > 5.95
2)5.01 > 0.84
3)3.0 < 9.92
4)5.0 < 6.95
15)0.7< 1.5
16) 6.42 < 7.40
7)8.41 > 0.88
8)8.0 > 3.92
9)1.57 < 1.80
20)1.1 < 7.6

Worksheet 6
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)2.0 +10=0.2
) 1.37 + 3=0.457
3)3.66 = 9 = 0.407
4)3.9+5=0.78

)6.3 +5=1.26

)7.9+6=1.32

7)2.87 = 5=0.574
8)3.8 + 7=0.543
9)0.84 = 10 = 0.084
0
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10)6.5 +5=1.3
11)1.27 +1=1.27
12)6.28 + 6=1.05
1 )5.04 + 9 =0.56
14)7.3+1=7.3
15)8.4 + 5=1.68
16)

8.32 +10=0.832

Worksheet 3

1)2.342 + 4.3 = 6.642

2) 7.426 4 7.499 = 14.925

3) 7.912 4 5.660 = 13.572

4) 1.7+ 3.183=4.883

5) 9.960 + 5.090 = 15.050

6) 6.18 + 7.991 =14.171

7)3.4 4 7.57=10.97

8) 7.6+ 3.58=11.18

9) 9.4 4+ 9.05=18.45

10) 1.145 + 9.65 =10.795
11) 5.6 + 4.245 =9.845
12) 9.815 + 2.26 = 12.075
13) 6.6 + 1.25=7.85
14) 2.9 + 7.022 = 9.922
15) 2.514 + 4.731 =7.245
16) 8.261 + 7.153 = 15.414
17)8.72 + 7.55 = 16.27
18) 9.6 + 6.09 = 15.69
19) 2.05 4 8.61 = 10.66
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20) 5.97 + 7.87=13.84

Worksheet 7
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Worksheet 4

1)5.4—35=1.9
2)2.89 — 1.01 = 1.88
3)8.18 — 6.9=1.28
4)1.9 — 0.96 =0.94
5) 7.4 — 5.209 = 2.191
6) 7.69 — 1.66 = 6.03
7)5.699 — 0.16 = 5.539
8) 6.98 — 4.5 = 2.48
9)7.0—3.5=3.5
10) 8.089 — 2.0 = 6.089
1) 8.726 — 2.129 = 6.597
2)7.4 —1.814=5.586
3) 3.59 — 3.580 = 0.010
4)9.5 — 5.788 = 3.712
15) 9.914 — 6.816 = 3.098
16) 7.0 — 0.614 = 6.386
7)8.32 — 1.22=7.10
8) 9.29 — 4.899 = 4.391
9) 5.158 — 1.90 = 3.258
20) 8.68 — 2.48 = 6.20
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